EARAROBEEIERT — 2 N— IBISH —F

201359H220 (B) AEIBR#7H

Ll o R 3 RESF (H8%E] B

‘ [R1%] & ‘ [RERBE] — | & (£) 12000 B

[A~&£] 1 7 4,000,000  ~ 23 :1,600,000H 33 :1,000,000H 4 3 :600,000H ~ 5 j& :400,000 H

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. f 3 | AR 1:12.0 4-4 36.3| 88.0 | 3 470 | AER— (ER)
118l16| 771> 2B A 54.0 ) e | W B—LiL—vry
R:TTRAExAL BTHYHITY B
= # 3 | dERE— 1:12.2 3-3 36.7| 86.0 | 2 446 | HBET (BR)
2(8|15| T —Fv FF T 54.0 (1 1/4) (+) | EREATRZ
LT RYA VR B:JO-Ua14T7> L—ZK—2Z
5 4 3 | EBE 1:12.3 7-6 36.3| 85.2 | 1 466 | AIRIE (FEH)
3|59 | 71 X2F 56.0 (1/2) (+4) | TARRERE
ixALIZ Ty - BUVAZTULT 14— AL
v # 3 | JIBE= 1:13.1 12-9 36.7| 77.6 | 10 | 506 |3/lIFEz (=)
415/10 SFa DT Ei= 56.0 (5) (+10) FgER
RFaTLHN BU—HA b I=52Fp=bh
s 4 3 | BEREEX 1:13.3 2-2 38.0| 76.2 | 4 464 | HEFF (RR)
5 W 11 AL IV 54.0 (1 1/4) “10) =
xR THANAN B3 2—=TIHIINLZX HET77— L4
O it 3 | B 1:13.5 12-11 37.0| 73.8 | 12 | 440 |RHEET (ER)
6 N 8 7yET7R 151.0 (1 1/4) o) B) v>7—L—>>7
R:FFHXFF>d B:a AT« 7 J =Y Tr—L
INT— N — f3 | BERZ 1:13.5 109 [37.2]73.8| 9 | 472 |B¥HFEW ®H)
TR\ — - 54.0 (7€) c10) | W ESH - TU—g-x - 2=F
LixAyaR—F— B4y INnz— DAY ¢
A ft 3 | BBRA 1:13.7 1-1 38.5| 73.0 | 8 438 | SeEKES (FH)
sz v—Vavr> (B] 54.0 (1 1/4) (-a) o) 4—7 - RE— b
Rix>inaO— B:TUVF4x—H— ECPN=Ve ]
o S 4 3 | AR 1:13.9 15-15 [ 36.9| 70.1 | 6 434 | BREE= (RR)
91112 b= —HU72K 54.0 (1 1/4) (-2) JIFAEER
XL THANAN B —T—L A2 R— H RS
e 4 3 | BERE 1:14.1 8-6 37.9| 68.7 | 11 | 484 |EEMEfE— (ER)
100714 21X7E€>T ) — A53.0 (1 1/8) © | ) AT r—L4
R:84¥>v ML B:T)E®IATRA BR&H EV M) —FK—ZXF>F
. ) i 3 | ESEE 1:14.1 4-6 38.4| 69.3 | 7 448 | BFIBE (RR)
1l [FVT>2IIT T 54.0 (F4<) (6 |M@ZATF
RTFATLREA L BiN—RZ NI R KIS
= i 3 | REEHE 1:14.2 10-11 | 37.8| 67.7 | 14 | 438 |AARES (BR)
12 4|7 - K7 a— 54.0 (1/2) Cg | @) YoriL-sry
A2:New Approach #:3I XX/ — (B) #8a—-FL—->a>@qE77
L 0L —— # 3 | ATE 1:14.5 14-11 37.71 65.0 | 13 | 498 |FHFE—- (E®)
137 13| L= ~H=-~ 5.0 (1 3/4) Loy | ) e
R:YIRG4952 B:I—-Y>I—1— RN
5 = 4 3 | BKHE— 1:15.9 4-4 40.2| 56.3 | 5 450 | BAB (RR)
M : DEESZERLEZE 56.0 © (o) | HAATIE
Ri*xfavk-5— B:4-E-V-> Skt e
< e . . FERBZ :16. — . . BEER (EXR)
15 5| YTIALLI)Y 73 4¢55.0 1 (1363 ! e 0.2) 9231 18 :52) g 0
R:Td—T14F4F—-XH%> B:F>)—21— INTr—L
= /S — 4 3 | FEHEHR 1:18.0 16-16 40.2| 39.2 | 16 438 | RBF (BH)
N > BECEEE 54.0 10 Coy |3cHEE )
LRZAHTIZy IR B:759yah—K ® %%
@ 71 L
) 48.6-36.8
NA>ZA L | 12.1-11.3-11.8-12.0-12.0-12.8
® I —F—@EBIERL
1T=7r=
20—7—
Gol=5r= (¥12,11)15(1,6,16)9(5,14) (4,7) (8,10)-13-2-3
40—F— (x12,11)15(6,16) (1,9,14) (7,10) (5,4,8,13)-2=3
[ N3
BB 16 580M 714K 15-16 410 e E 8-8 920M JEHE 9-15-16 730M
8 B 16 180F4 9-16 330M B = 15-16 1,170M B 16-15-9 6,210
15 140/ 9-15 230 B H 16-15 2,300/
9 120/

ABICOVWTRDTEEERROODE. TR LIV,




